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Topic:- General Knowledge and Logical Knowledge

1) Which one of the national parks does NOT belong to Madhya Pradesh? /ﬁl’H A QDA ?T@Tf 3T
T YR ¥ JHd 8l 32

1. Kanha National Park / I-g1 QT@HB@FT
2. Madhav National Park / HIYd W@HW
3. Bandhavgarh National Park/EIT‘EJ_ClTI?,T

4, Jim Corbett Park /ﬁﬂ:f HeC IgM

Correct Answer :-

¢ Jim Corbett Park/1\lr|'l:[ LA 3l

2) Leather complex in Madhya Pradesh has been established at

_ gei e fear gl
1. Dewas / GdI

2. Ujjain / IS

3. Chhindwara / fiGarst

4. Shajapur / RTSITYY

Correct Answer :-

« Dewas /aam

3) Which was the first English newspaper in India? / HRd H ygdr 3l YHTER U S IT 4T?
1. Bengal Gazette / STITd TTolC
2. Deccan Chronical / SIB BB

()



3. The Hindu/ & I%ﬁ

4, The Times of India / CIg & 31'\[155 éf:d,tu

Correct Answer :-

« Bengal Gazette / STTTQ TToIC

4) Which state in India is Bounded by Karnataka in the North, Tamil Nadu in the east and the Arabian

sea i%thewest?lmﬁﬁqwmﬁ?ﬁm, vd # affrarg ofik ufd o ore wqg A R
g g?

1. Gujarat / [SIRTd
2. Andhra Pradesh / 3% UGl

3. Kerala / 3d

4, Maharashtra / IIB'RTE

Correct Answer :-

« Kerala / d

5) Which city was the capital of Odisha before India became independent in 1947? / 1947 H YRd Wad

T Y UgA I AT X6 IS 141 S AW AT?
1. Sambalpur / HFAYR

2. Cuttack / hch

3. Puri/ Q'\P[
4, Bhubaneswar / HTJI%T%R

Correct Answer :-
¢ Cuttack / hch

6) Article 80 of the Constitution lays down the maximum strength of Rajya Sabha as: | Tfaem &

3Tq 80 H fAreffya srgaR, Isaayr & Towl Ft siftreay T fra-t gl g&dl &:
1. 250
2. 565
3. 525

4. 545

@)



Correct Answer :-

e 250

7) Tansen Samaroh is held at district in Madhya Pradesh. / & USRI & o

H A GHRIE ST fhaT ST g1
1. Rewa / Xfal

2. Bhind / €

3. Bhopal / HIUTd

4. Gwalior / TIferaR

Correct Answer :-

« Gwalior / TTfeRR

8) Major portion of river Mahanadi lies in the state of ? /II'EFI'QPT qﬁ DTUHE HIT fFaTmd %?
1. Chhattisgarh / Eé‘(?ﬁ@ﬁ

2. Jharkhand / m@;

3. Orissa / 33_ I

4. Madhya Pradesh / H&] Uax

Correct Answer :-

« Chhattisgarh / ?)T\'ﬁﬂ"la

9) The largest district in Madhya Pradesh by area is ./ A & EPHIUN A AUV BT Jad
g1 foren gl

1. Sagar / dTR

2. Sidhi / Teft

3. Chhindwara / %EEET
4. Betul / é@?{

Correct Answer :-

e Chhindwara / W@T

(4)



The famous Grand Trunk Road from Peshawar to Calcutta was built by: / URMER  BIAPTdal aP DI

RIS s &% A F1 Fuivr s=iv FHam:
1. Allauddin Khilji / 3ICATIEF Raetolt

2. Muhammand bin Tughluq / G&HG fa qTcTe

3. Balban / dcd

4. Sher Shah Suri / ]R T8 T

Correct Answer :-

« Sher Shah Suri / R MG LI

11) The Brand Ambassador for the Government of India’s campaign against “Hepatitis B’ is: / ¢

FUCTfed § & SR # HRA WPR P1 7S TS S o
1. Amir Khan / TR &

2. Amitabh Bachchan / S{HATH S

3. Vidhya Balan / [CEIEINE]

4, Salman Khan / FTHH QT4

Correct Answer :-

« Amitabh Bachchan / 3IfFdTY S

12) The Aadhar based mobile payment application launched by India Government is called i

YR AR GRIURY a1 141 SR nertia Masd YiaH URea 1AM
1. SAMAY /9HY

2. ARJUN / 31

3. SAKSHAT / HI&Tdq

4, BHIM / ¥

Correct Answer :-
« BHIM/HH
13) Who is the Speaker of Lok Sabha? / @GIUHT PT (& P 82

1. Sumitra Mahajan / ﬁ&l’?ﬂ Helolq
2.P JKurien/T—ﬂng

(%)



3. Arun Jaitley / 32Ul Sieat

4, Sushma Swaraj / YHT TR

Correct Answer :-

e Sumitra Mahajan / ﬁ&ﬁﬂ HaTolHq

14) Who was the first speaker of the Lok sabha? / APIAUT S Tﬁﬁ CESI) ﬁq )
1. Neelam Sanjeeva Reddy / BN Fﬁﬁa@

2. Ganesh Vasudev Mavalankar / O] dlﬁad BIGIGGZN

3. K.S Hegde / .09, B8
4. Hukum Singh / §pH g

Correct Answer :-

« Ganesh Vasudev Mavalankar / TOIRI dlﬁad HIdTIDh

15) Who was the first Indian to win the Nobel Prize? / CICG RIPR UM 9 m HRA ﬁ? )
1. Rabindranath Tagore / X&F&TY TR

2. S S Bhatnagar / TH.TH, HcANTR

3.J. C. Bose / SI. 1. 919

4, C.V. Raman / 1.t THA

Correct Answer :-

« Rabindranath Tagore / &Y TR
16) Madhav sanctuary is located in ./ HIYd IYIRWY ¥ RTS8

1. Sagar / qR
2. Hoshangabad / élQi‘lI@lla
3. Sidhi / ¥if&

4, Shivpuri / W

Correct Answer :-

« Shivpuri / REAGRT



17) Who is the first woman president of India? / HIRd | tl'&ﬁ‘ﬂ mmﬁﬁqé"
1. Sarojini Naidu / SRIFSH I
2. Sharda Mukherjee / RIRql H’Eﬁﬁ

3. Sarla Grewal /WT‘BIG'IFT
4. Pratibha Patil / IfcrHT Tife

Correct Answer :-

¢ Pratibha Patil /Clﬁf‘l-ﬂtﬂﬁﬁ

18) Which was the first State in India to pass the GST legislation in the Assembly? /ﬁ%ﬂq gHT (m
T Sfed) ST UIivd $=- aTel YR BT UYH 5T i T UT?

1. Tamil Nadu /?I'&I?T:ﬂ@'
2. Gujarat / TJoIRTd
3. Madhya Pradesh /ﬂ‘c‘ﬂm

4, Assam / 3TH

Correct Answer :-

¢ Assam / 3HH

19) Where is ISRO's Vikram Sarabhai Space Centre located? / 3'\‘:@' CaRGER:] i‘:IRT'l-I'I'sc Gi?lﬁ'&'[ a)Ts‘? ﬁ‘f
fRagr

1. Mahendragiri /Il%"_&'ﬁﬂ

2. Thiruvananthapuram / [dR=a=idgRA
3. Bangalore / SR

4, Sriharikota / glkpIer

Correct Answer :-

e Thiruvananthapuram /m

20) If SYMBOL is coded LOMBYS, then how is LIQUID coded? / afé¢ SYMBOL &I LOMBYS ¥

Hifed far sirar 8, @ LIQUID &1 $d Hifed foear SrRm?
1. DLIUQI

2. DIQUIL

(7)



3. DIUQIL

4. DULIQI

Correct Answer :-

« DIQUIL

21) Six friends are seated around a circular table. It is known that L is seated between P and N; Q is

seated to the right of O; and M is seated between N and O. Find the friend who is seated between L and

Q./ BT I TUTPR UW & IRI 3T IS U T I8 71 ¢ P P 3R N & §I L SoT g3 7, 0 & gIfgA

%ﬁ?Q%BT%, 3R NTF 0 & d1g M 96T §IT 31 I GId DI J1d B ol 1% L 3R Q & ot & SaT ganm
|

1M
2.N
3.P

4.0

Correct Answer :-

22) If ORBIT is coded BEOVG, then how is PLANET coded? / af¢ ORBIT &Y BEOVG | Hifsd foar
WAl 8, a1 PLANET &) &9 Sif$d foar SRm?

1. CYNARG
2. CONAVG
3. CYNAVG

4. XONARG

Correct Answer :-
e CYNARG

23) If EXIST is written FZLWY, then how is SOLUTION coded? / Of¢ EXIST @Y FZLWY Q ®IfSd
g SIrat 2, @ soLuTION B $ Bifsd far s

1. TOOYYOVV
2. TQOYXUVV

3. TQoYYOUV

(8)



4. TQQYYUUV

Correct Answer :-
« TQOYYOVV

24) Two cards are drawn from the pack of 52 cards. What is the probability that they are kings? / 52

Tl & a5 @ ¢ U1 T oa €1 st w1 wilkiedr @ 76 3 S areRe i

10

221

2120
am

(B
(R}
=

=

1=
[
=,

Correct Answer :-

1
5

2,

-

25) In a certain code language, fama sama lama means very nice friend, seme sama sooma means nice and
sweet, and teks tama tuna means very hard surface. Which is the word for lama in that code language? /

Uh @i IS HIUT ﬁ, tama sama lama BT Ay very nice friend; seme sama sooma BT 3 & nice and sweet
3R teks tama tuna BT A very hard surface giar %l EX) IS U H lama %PCI'Q P ®r 3@1:"?[
forarmar 32

1. sweet
2. nice
3. hard

4. friend

Correct Answer :-



Find the odd one out: / Y ﬁ'ﬂ'ﬁiﬂﬁ aﬂﬁnz:
2,2,4,4,6,8,12,16

1. 16

2.6

3.12

4.8

Correct Answer :-

e 12

27) Complete the series choosing the missing number: / & ST TAHR YEAT BT GRT DITOIT:
2, 6, 14, 30, 62, 126,

1. 248

2.252

3.250

4. 254

Correct Answer :-

o 254

28) Complete the series choosing the missing number: / T I FAHT YT HI [T HIfOTT:
56,9, 16,

1. 31

2.27

3.32

4. 30

Correct Answer :-

29) Complete the series choosing the missing number: / YU TS TADB YLl C| I PIfoTT:

7,15, 32, , 138, 281
(10)



1. 67
2.43
3.58

4.75

Correct Answer :-

30) Select the option that is true about the Statements and Conclusions given: / 3d faweu

BT T PIoE o fp 3T Y ST 3R frepul & 9 & 98! 8:

Statements: /| ®YA:
Some boats are ships / $9 19 Slglsl %

No ship is a submarine / Eﬁ‘é NSRS quﬁ Qﬁ%

Conclusions: / fes:
I. Some boats are submarines / Wﬂﬁqﬂgﬁﬁ %
II. All boats are submarines / 94 9@ Wltjﬁ’f%

1. both conclusion I and II follows / FT&Gd 1 8TR 11 & SR A %

2. only conclusion II follows / Had fspe 11 S{FHT Dl %

3. only conclusion I follows / Had (spY | SR WT%

4. neither conclusion I nor conclusion II follows /7 & fs 1 R 71 & fea 11 SR FRAE

Correct Answer :-

« neither conclusion I nor conclusion II follows /< ‘@ﬁ'&b‘ﬁf} 3-]3? - 33[ ey 11 ST A %

31) Select the option that is true about the Statements and Conclusions given: /39 ICEg3

BT T oY o fp AT e FU=T 3R frepuf & 9 & 98l 8:

Statements: [/ ®Y:
All TVs are VCRs / 931 &1, dfler &
Some Radios are VCRs / Wi’%‘fﬁ, dRftem %

Conclusions: / fAp:
I. Some VCRs are Radios / & diHl3R, ¥fsat &
IL. Some TVs are Radios / $© ¢4, 3feai §

1. both conclusion I and II follows / ﬁ'@?ﬁfl \ﬁT 11 aﬁr S0 B %
2. only conclusion II follows / Had [TSHY 11 TTRUI HT &

(11)



3. only conclusion I follows / Had Ay 1 ST W%
4, neither conclusion I nor conclusion II follows /- EOH%IWE‘:I 3?|T 1 ?f ﬁWﬁf IT SR GG %

Correct Answer :-

« only conclusion I follows / Had Ty | ST hdl g

32) Select the option that is true about the Statements and Conclusions given: / 3% fa®eq

BT T PIoE 1 fp 3T Y ST 3R frepuf & 9 & 981 8:

Statements: [ DYA:
All songs are poems / 9 7fiq &faamn &
All poems are operas / 91 ®faamg, Thd-Ac® &

Conclusions: / farew:
I. All operas are songs / G Tifid-rc® fia &
II. All songs are operas / I i Tfia- Ac® &

1. both conclusion I and II follows / &R 1 3R 11 &I SR PRA G

2. only conclusion II follows / Had ey 11 ST FRAT ]

3. only conclusion I follows / DHad hY 1 ST IRAT S

4, neither conclusion I nor conclusion II follows /- ﬁﬁW‘iI 3%? - %?r ﬁ'@ﬁﬁf 1T 3T Hd %

Correct Answer :-

« only conclusion II follows / BT Y I1 STERON Hal §

33) Select the option that is true about the Statements and Conclusions given: / 39 IR KTl

T PIE oY b e 78 wyET o el & aR & 9 &

Statements: / HYH:
All tomatoes are vegetables / Tt cure afewi %
Some vegetables are fruits / $© AfHaT A &

Conclusions: / fsd:
I. Some tomatoes are fruits / $S HIER A &
II. Some fruits are tomatoes / P& ¢l THICY i

1. both conclusion I and II follows / ﬁmﬂfl 33? II a i STTARTT Wﬁ%
2. only conclusion II follows / Had By 11 I Dl %
3. only conclusion I follows / Pdd fAHY 1 3TTRUI HRAT §

(12)



4, neither conclusion I nor conclusion II follows /I é)f Ay 1 3R T é’r ey 11 SR HId %

Correct Answer :-

« neither conclusion I nor conclusion II follows /= &1 Fs I 3R 7 &1 fshT 11 ST Hd &

34) How many ways can the letters of the word 'MANAGER' be rearranged, so that the ‘GER’
will always come together? / 'MANAGER' I & 3f&RI @I fha+ TR I T Y:aqafeud fovar o
Tl ¢ T 2sg # 'GER’ TR 1Y 3MTT?

1. 480
2. 240
3. 360

4. 120

Correct Answer :-

« 360

35) The series given below contains a sequence of humbers. Identify the incorrect

combination: / - &Y ¥ s@a #, TS BT TS HH IR € | TTad Ao Ugdn-g:
2,3,579,11,13,17,19

1. 11

2. 17

3.19

4.9

Correct Answer :-

36) Complete the series choosing the missing letter/s: / Gl SER/IHERT a’ﬁw yRae Cd] T PIfoTT:
Yrs__Ssrrr__tssr__rst_ sr

1.t,s, 1,8

2.t,8,8, 1

3.8, t,t, 1

4.1,1,8,t

(13)



Correct Answer :-

37) The series given below contains a sequence of numbers. Identify the incorrect combination: /< ?ﬁ Tlé
g §, H=ASil &1 U i IR B | TTad Hatel+ Ugar=e:

1,2,4,8,16, 48

1.2

2.48

3. 16

4.8

Correct Answer :-

. 48

38) In a certain code language Trains were late is written Rakas som frok and Don't be late is
written Bin'k drom som, then how is /ate coded? / Th WA PIS HIHT ﬁ, Trains were late 3\

Rakas som frok for@r sran % 3R Don't be late P Bin'k drom som for@1 SiTdT %, o late DT A
Pifsd forar SR

1. som
2. rakas
3. drom

4. frok

Correct Answer :-

* Som

39) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different.
Choose the odd one out:

/ ﬁgi%«r@;mrﬁ, &Rl P P T9E T T 1 37 9t H, Fawt TP P BISPR, AT JHCT € Sidip
T AT R

39 9 faud &1 9g9 Fifme:
1. AE

(14)



2.10
3. Al

4. El

Correct Answer :-

e Al

40) The first Chief Minister of Madhya Pradesh state was /| Hd m I B UYH E@Tﬁﬁ )}
1. Ravishankar Shukla / Ifa=dHR RIC

2. Shivaji Rao / Rrarsit 319

3. Kailash Nath Katju / a1 ATY Sles]

4, Dwarka Prasad Mishra / gR<hT UG oy

Correct Answer :-

« Ravishankar Shukla / IfIRIH Rk

Topic:- Mental Ability and Mental Aptitude

1) If the following two squares shown below overlap. which one of the following options is formed? / ATe,
e o @@ Afdeaiid g &ar e § & &ie a7 & Taweq a=r &7
» am O
ii:"}l
B O
| :I
1.
dH:[fI
ols
2.

(15)



4.

2) \
Which of the following fractions is less than S§ ? | Ta=feTad & o &g o @

8% T & g7

(16)



In the sequence shown below, which figure comes next? JE 183 IR e H, 3T Bﬂfgﬁ' il O

i J,i_.__, L-}
! i 1 w

(17)



In the sequence shown below, which figure comes next? /Ard &3 IR A #, 319101 31@?&‘ Bhid Gl
HREIR

& F 3 X
f// / ")
/ i
v v »
! i i w

1.
A 3
2.
._,r
3.
L.
4.

Correct Answer :-



1

E_

1 1

Solve it. 52 + 7 + 2 = =102
4 2 8

10% fs;?rs?»‘rﬁﬁjir + 7 +2

dea | ca| - ool -1

o | -1

Correct Answer :-

6) If Xis 90 % of Y, what percentage of X is Y? / Ul Y BT 90%, X €, @l x T fha-T ufa=a v 82
1. 90

2.101.1

3.111.1

4. 190

Correct Answer :-

« 1111

7) Suman gives Rs. 500 to her son Ramesh, and asks him to pay the grocer Rs. 263, and the vegetable seller

Rs. 149. How many rupees is left with Ramesh?/ﬁqqﬁmgamﬁ 500 Mfﬁqaﬁ?w@rmﬁ
aTel BT 263 TUY UG Toail fachdl B 149 TUY 1 P H8T1 IR & U fpaq U =2

1.Rs. 168 / 168 3Ud
2.Rs. 88 /88 IW

3.Rs. 153 / 153 30
(19)



4.Rs. 114 /114 399

Correct Answer :-

« Rs. 88 /88 IW

8) Which one of the following four addresses is NOT EXACTLY same as the one given below?

| FEfRM IR T 49 R R R 1 & Sie TR S A Te 181 82

Badrick James
21, Jalan 4/32A,
Batu 6.5, Kepong 52100,

Kuala Lumpur, Malaysia

(i) Badrick James
21, Jalan 4/32A,
Batu 6.5, Kepong 52100,

Kuala Lumpur, Malaysia

(i) Badrick James
21, Jalan 4/32A,
Batu 6.5, Kepong 52100,

Kuala Lumpur, Malaysia

(iii) Badrick James
21, Jalan 4/32A,
Batu 6.5, Kepong 52100,

Kuala Lumpur, Malaysia

(iv) Badrick James
21, Jalan 4/32N,
Batu 6.5, Kepong 52100,

Kuala Lumpur, Malaysia
(20)



4. iii

Correct Answer :-

9) A number is such that 8 times the sum of its digit equals the number. If 45 is subtracted
from it the digits are reversed. What is the number? / T% TSI 39 UPR ¢ [ 9P i) & T
P18 T 39 U & JAM g1 TS IH IBAT H 45 U<T a1 WIT ol 59& 3% ufaalid gl oid &1 98
T T 82

1.23
2.27
3.32

4.72

Correct Answer :-

10) If 17 % of P is same as 13 % of Q, then theratioof Q: Pis: / gfg P &1 17%, Q F 13%
F A, A Q: P P U &

1.17:13
2.13:5
3.13:17

4.5:13

Correct Answer :-
e 17:13

11) The average of three consecutive numbers is 27. Find the new average when all three
numbers are decreased by 3 each. / & PHRTT sl BT it 27 %I U 3NTd B ST ﬁ,
St gt T SBIT Ul 3 § B4 g1 |

1.24

(21)



2.28
3.26

4. 30

Correct Answer :-

. 24

12) What number is such that its 12 % is 252? / 98 91 $I9 Il 8 & o1 12%, 252 81
1. 2000

2. 2400

3. 1800

4. 2100

Correct Answer :-
« 2100

13) B is twice as old as A today. In 10 years, the ratio of ages of A and B will be 2:3. Find the
present age of B. / 35T B, A 3T ¥ g1 g1 10 96T H, A 3R B F1 3T BT 3JUTd 2:3 THII B
Pt gAAT 3T T Be

1.12
2. 10
3.20

4.15

Correct Answer :-

e 20

14) A can do a piece of work in 15 days which B alone can do in 10 days. A started the work
and B joined him after 5 days. Find the humber of days taken to complete the work. / A T®

B1d ®1 15 e § B a1 g 3R 3P ar B I 10 &7 # &% Ipdr &1 A B BT TR a1 ¢ ofiR
5 R 915 B I9H 2 € ol 81 B1f &) 1 A 2q e ¢ A1 e Y 3 Y]

1. 4 days /4 e
2.9 days /9 feA
3.10 days / 10 faq

(22)



4,15 days /15 faq

Correct Answer :-

« 9days /9feT

15) A can do a work in 15 days and B in 20 days. Both of them work for 6 days then the
remaining work is: / A {53 &1 &1 15 faa1 & MR B 39 20 fa=i & &3 IPar g1 241 6 fe=f & forw
P Pd ¢ a9 Y B g:

1.7/10
2.3/10
3.172

4. 2/5

Correct Answer :-

e 3/10

16) Ashok brought a gift article and spent Rs. 110 on its repair. He then sold it to Bhushan at
a profit of 20%. Bhushan sold it to Charan at a loss of 10%, and Charan sold the same for Rs.
1188 at a profit of 10%. How much did Ashok pay for the article? / 3N 1 Th SUBR d¥g
TG 3T 110 TUY IS TR R T [HY | TP d1g 3T YU H I 20% & A1H W 99 feam|
YYUT 3 I IRV HI 10% I FT IR 34T 3R TROTA SW F1 10% F a1H W 1188 I H 371 e
3N A I axg & fere fova=m Y= foar

1. Rs. 790 / 790 SUY
2. Rs. 890 / 890 SUY
3. Rs. 690 / 690 STY

4. Rs. 990 /990 ST

Correct Answer :-
« Rs. 890 /890 ¥TY

17) A boat travels at a speed of 14 kmph upstream and 22 kmph downstream. What is the

speed of the stream? / T® 14, Wﬁﬁ'ﬂﬂﬁﬁmﬁ 14%@@@%@@?%3&%&”
o 22 foelt ufa de1 ot e A g R 81 YR B A9 |1 82

1.4 kmph / 4 T Ui ger
2. 14 kmph / 14 et ufa der

3.8 kmph / 8 foHt ufa der
(23)



4. 16 kmph / 16 foHt ufa der

Correct Answer :-

« 4kmph /4 foHt gfd ger

18) If the sides of an equilateral triangle are increased by 20 %, then by how much percent

will the area of the triangle increase? / afe HHAIG @i &t 'ﬂ\_:ITGﬁ T 20% @t q@ S RCIG] %, a
P & aawa o1 feaer ufawra gem?

1. 40%
2.44%
3. 48%

4. 20%

Correct Answer :-

e 44%

19) The ratio of the speeds of two trains is 7 : 8. If the second train covers 400 km in 5 hr,
then the speed of the first train is / G Y@l @1 TTal T 39U 7 : 8 81 Afe ol ¥ 5 He H 400
fortht qa wedl 8, o Ugdl Y9 B 919 §:

1. 76 kmph / 76 Tobd1 Ufcl gt
2. 70 kmph / 70 f&4t ufc der
3. 50 kmph / 50 &8 uf der

4. 62 kmph / 62 feoTil Ufa Tier

Correct Answer :-

« 70 kmph /70 foo 1 Tifct wieT

20) The LCM of 3p, 6p, and 9p is: / 3p, 6p 3R 9 p BT TITH FHUTH &:
1.18

2. 18p

3.19

4. 19p

Correct Answer :-

« 18p
(24)



21) When you reverse the digits of age of father, you will get the age of son. One year ago
the age of father was twice that of son's age. What are the current ages of father and son

respectively? / 59 3T T F1 MY F 3iH) B b Hd Hd &, Al 3ATT T DI 3TY YT H1 | TH
a9 ugd, e 31 omg g 1 amg Ft g A1 e iR 7 Y o< g e | 82

1. 24 and 42
2.31 and 13
3.45and 54

4. 73 and 37

Correct Answer :-

e 73 and 37

22) The sum of three numbers is 90. If the ratio between the first and the second number is
2 : 3; and the ratio between the second and the third number is 3 : 5; then, what is the third

number? / &< TB3H BT 41T 90 B 1 af Ugel SR got WEeii & o BT SgUTa 2 : 3 § TF gl
3R TR e &1 SrguTd 3 1 5 8, Y SIS WS |1 8?

1.75
2.45
3.27

4.15

Correct Answer :-

23) The sum of two numbers is 15 and the sum of their squares is 113. The numbers are: / @

HSAT3M HT ANT 15 § SR I a1 BT AT 113 g1 TBIY &
1.6,9
2.5,10
3.7,8

4. 4,11

Correct Answer :-

« 7,8

(25)



24) The sum of two numbers is 1000. If 40 % of one number is equal to 60 % of the other,
then the numbers are: / & IBATAT BT ART 1000 7| TS TH IBAT BT 40% FIT & 60% & T
g d@ S=Im §:

1. 600, 400
2. 500, 500
3. 800, 200

4. 700, 300

Correct Answer :-

« 600, 400

25) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /'_'ﬂ%?ﬂ"flémﬁ, M&Rﬁsﬁ?m\’rﬁmwmﬁr@aél me

i.frqw00221rfqw
ii.frqw00222rfqw
iil.frqw00221rfqw

iv.frqw00221rfqw

4. iii

Correct Answer :-

26) Find the average. / 3d FreTierd|
31, 40, 49, 58, 67 & 79

1.49

2.54

3.57

4. 60

(26)



Correct Answer :-

. 54

27) A train crosses a platform of 200 m long in 90 seconds at a speed of 60 kmph. The time

taken by the train to cross an electric pole is ./ Wi?r 200 HIe? T WewiH Hi 60
Muﬁ%ﬂaaﬂwﬁgomﬁmm—cﬁél fagaa % &1 IR S § ¥ gRT foran wm wwg
|

1. 78 sec /78@$UC=,r
2. 30 sec / 30 BT
3.52 sec /52 YHUS
4.62sec /62 IHUS

Correct Answer :-

. 78sec /78 APpUS

28) A grain merchant sold 600 quintals of rice at a profit of 7 %. If a quintal of rice costs him
Rs. 1600, find his total profit and his selling price respectively. / T® 3[Tql R = 600
e araa Bt 7% F ATH W 9971 I TH B I9a $1 HHAd IH 1600 FTI TSI, A IHDT
PU: T A1H 3R fIpa geu Ia SR

1. Rs. 77,200, and Rs. 9,27,200
2. Rs. 57,200, and Rs. 8,27,200
3. Rs. 62,200, and Rs. 7,27,200

4. Rs. 67,200, and Rs. 10,27,200

Correct Answer :-

« Rs. 67,200, and Rs. 10,27,200

29) Six years ago, the ratio of the ages of Ramesh and Sundar was 6 : 5. Four years hence,
the ratio of their ages will be 11 : 10. What is the present age of Sundar? / 8 99 Ugd, TA
3R G P 3T BT 3UTH 6 : 5 YT TR I UYTT S| 3T BT SFUTT 11 : 10 SR FreZ P T
3T 4T 82

1. 16 years / 16 9§
2.20 years /20 dY
3.18 years /18 Y

4. None of the above / IWRIad | J ®Is gl
(27)



Correct Answer :-

« l6years / 16 aY

30) Which of the following is less than 9 % ? / AR A A P, 9% A FH &2
1.82/9

2.40/4

3.85/6

4.30/2

Correct Answer :-

e 82/9

Topic:- Science and Simple Arithmetic

1)

Given that v 4096= 64, then the value of V4096 + '40.96 = I T &V 4096= 64,
ar V4096 ++/40.96 =

1. 64.64
2.68.2
3.704

4.67.4

Correct Answer :-

e 704

2) If #4 = 50° then £B = . [ TR £A = 50°4r £B =

A

~

1.50

(28)



2. 100

=]

3.75

D

4. 60

Correct Answer :-

=]

* 50

3) Find g, if 8a= 35%—27%. / o 8a= 35% — 27 ¢ 4ar a = &7
AT SHITAT

1. 62
2.56
3. 61

4.52

Correct Answer :-

) 1fr2=2 21, find £2 where the two lines are parallel. / 7% 22 =2 £1 §, @ 22 & A A

L =

ST SAdids gl T TAEIGL 61

2 /
7

o

1. 80
2.120
3.160

4. 60

Correct Answer :-



In the sketch of the siomatal apparatus given below, which one of the foliowing is

missing? / A &3 @ T d7 & Wice &, e § § S @ Faied &7
Figh=ra

1. Cell membranes of the cells / HIRABTAT BT BB ST
2. Cell walls of the cells / BIRIBISN Bt BIRTBT-HRT

3. Chloroplasts in the guard cells / gIR PIRGIS H gRATdD

4. Nuclei in the guard cells / R DRI H D

Correct Answer :-

¢ Nuclei in the guard cells / me@h EEEIRED

6) If4?m—8 = 1 thenm= TR 48 = 1 drm=
1.5

2.3

3.4

4.2

Correct Answer :-

7) If the total surface area of a cuboid of length 6 cm and breadth 5 cm is 126 sq cm, then its height is: /

afe 6 Y. Farg 9uT 5 A, TSTS I TIY BT HA YS3NT TG 126 T A, B, A 3Tt FHars e g
1.5cm/53HN,

2.3.5cm /3.5 9,

3.4 cm/4 G,

4.3 cm/3 99

Correct Answer :-

(30)



e 3cm/3 9L

8) In a rhombus ABCD, if AC = 8cm, BD = 6cm, then AB = ./ TP TGS ABCD ¥, afe AC =8
I, BD = 6 Q¥ Gt AB = :

1. dom/ 4 9
2. 5cm /5 T
3.3cm /3 AT
4. 6cm / 6 AT

Correct Answer :-

. SCm/SﬁIﬂ

9) The liquid fuel among the following is: / fFrafafea d w_a EF'EFT e
1. Coke / Pl
2. Diesel / Sloldl

3. Natural gas /Wﬁﬂ
4. Coal / PITAT

Correct Answer :-

« Diesel / Slold

10) How do water droplets form on the outer surface of a bottle containing cold water? / ds o gad

dad P 91831 g W oid Bl 98 »d FAffa gt 32

1. The water vapour present in the bottle condenses and penetrates outside. / Fad H SRR STaar gg-d
21T & T TER BT SR I8 HRa 3 |

2. The water vapour present in the air condenses on the surface of the bottle. / 91 T IURRYT STAdT didd ol
g R I G118

3. The water inside the bottle evaporates and appear as water droplets. / Siad & 3fex B ofd dIeId gl % GEII

Sel & T H o T 3|

4. The water vapour present in air evaporates and sticks on the surface of the bottle. / i T IufRE
SICTaT ISy B el § a9l Sidd &1 Jdg R f[us S g1

Correct Answer :-

« The water vapour present in the air condenses on the surface of the bottle. / dIg T IURYT STeary didd &1
g W HUHd gIan 5l

(31)



11) In a nuclear reactor, a coolant is used to: /ﬂﬁ-ﬁ'&qmﬁ? ﬁ, Nadas &1 IuART 3'\‘!% ﬁ'l'l'{ foar
ST 8:

1. Cool the hot steam and condense it to water / TH A8 b] ST B aUT S@ O H TGd A B ﬁﬂ;’ [

2. Cool generator coils and prevent overheating / ST W P EST B 3R IS Bl APYH B
fera

3. Make steam to run turbines / Eaf_si:faﬂ'lef %%I'QW ﬁ'ﬁﬁaﬂﬁ%ﬁﬂll

4. Transfer heat from reactor to water in heat exchanger / \5H®HI fafomae o Sull &1 Rudex T Sra o
QIR B3 & fa|

Correct Answer :-

 Transfer heat from reactor to water in heat exchanger / ™[ fafamae o Sull & Ruger I Sra o
QYR B & |

12) Khadins, Bundhis, Ahars and Kattas are ancient structures that are examples for:

/ @i, gf¥, 3ER U1 ST Ui WA € i b e & Serr
1. Soil conservation / JaT TR&UT

2. Wood storage / A® S & HERUI

3. Grain storage / 3T HERUT

4. Water harvesting / STeT TR&0T

Correct Answer :-

« Water harvesting / ST TR&I0T

13) Most of the algae have chlorophyll as the main pigment and additional pigments. The
pigment present in brown algae (in addition to chlorophyll) is: / 3ifRr&i=T Rrara & YT qvie
3R sifafa qufel & w=u & FaRiftba 81 YR Aara A IufRUa quie (wRifva & srfafva) &:

1. Fucoxanthophyll / /@ a=ifthet
2. Phycoerythrin / BTSSRI

3. Phycocyanin / papEaRiIEE]

4. Anthocyanin / GJIRAMA

Correct Answer :-

« Fucoxanthophyll / TIBRITET

(32)



14) One cannot stop food after swallowing because of the: / aﬁs‘ Hfed HIvH 9 fFRTeq & 91
39 9 & BRI ) P GHa1 B:

1. Involuntary nature of intestine / 3fid @I SfsH El?ﬁ
2. Mucous lining / TQISHT 3R

3. Saliva secretion / ¢IX HIGUI
4. Voluntary nature of intestine / 3idl 1 [UETg Wﬁf

Correct Answer :-

« Involuntary nature of intestine / 3{id @I 3fsH EI?FCT

15) If the adjacent angles of a parallelogram are in the ratio 3:2, then the larger angle is: /

Tfe T THIaR TgUS & SIRT P07 3:2 F JUTd | &, df F1 HIvT fr1 ghm:

=]

1.72

2. 108

=)

3.54

4. 36

Correct Answer :-

17) Space is left between logs of wood when they are burnt, so that: / Hﬁpf & ?I?ff P ST
TG 3% o el oiig Bts &l 9t @ fora:

1. It can reach its ignition temperature / 9§ 3T Toaad did IR ugd qb |
(33



2. Consumption of wood would be less / ?139_6“\[ &t JUd HH E?fl
3. It helps movement of air for it to burn / 3HP ST & feTT ag 31 71 & Heg A |
4. Burning takes place slowly / G&- eR-¢fIR Ep[l

Correct Answer :-

« It helps movement of air for it to burn / 396 W%W aﬂﬁnﬁfﬁ Hag el
18) The one’s digit in the cube of 38 is: / 38 %Wﬁ'{ﬂﬂgﬁ 3 = E»;IJII:

1.6

2.7

3.4

4.2

Correct Answer :-

19) The perimeter of a parallelogram is 150 cm. if one of its side is greater than the other by 25 cm, then the

smaller side is: / TP THIaR ag st &1 ufearg 150 A, g1 afe sTD T Yo gudt Yo & 25 T, it
2, O TP B Yor fr=r Eh:;

1.25cm /25 @Tﬂ.
2.75cm/ 75 I,
3. 45cm / 45 THL,

4. 50cm / 50 THL.

Correct Answer :-

o 25cm /25 9.

20) Find the cost price, if SP = Rs. 670 and its loss = 4%. / Af¢ T Yea = 670 TUA 3R 3BT 81 = 4%,
Y ENTd g [Td Pifoe|

1. Rs. 658.92 / 658.92 304
2. Rs. 95.92/95.92 30
3. Rs. 697.92 / 697.92 30U

4.Rs. 47.92/47.92 308

(34)



Correct Answer :-
e Rs. 697.92/697.92 304

21) Calculate the compound interest on Rs. 20,000 at 8% pa for 3 years compounded annually. / 20,000 Uy

B YRIIR TR 8% AT Tehqfg AT BI &3 A 3 T BT TS JId DI |
1. Rs. 5194. 24 /5194. 24 T

2. Rs. 5234 /5234 308

3. Rs. 5234/ 5234 %04

4. Rs. 4325.82 /4325.82 348

Correct Answer :-
e Rs.5194.24/5194. 24 308

22) What does the height of the rectangle in a histogram show? / STaar # mad &1 ﬁrs‘am yeRia
Al 82

1. The upper limit of the class / I P HU T
2. The width of the class / I P TeTs

3. The frequency of the class / Fif & Gﬂfﬂ%f

4. The lower limit of the class /¥ 1 el THHT

Correct Answer :-

¢ The frequency of the class / cukeal 31'@[%[

23) A powerful magnet loses its magnetism when: / wrfaa=Te JHD YT gD d 3H Rufad = ar %
Nd:

1. A high mechanical stress is applied on it / 9 UX 3= i Ufded SR SIrar % I

2. A high electric field is applied on it / 9 UX 3= é@ﬂﬁ & ST ST ]

3. It is heated to very high temperature / 3@ I dT99 TR T T ST % I

4. Tt is buried inside the earth for a long time / S P THT I & forg YA & 13 e far smar §1

Correct Answer :-

» It is heated to very high temperature / 3@ I 199 TR T T ST % I



24) Which one of the following is rigid, non-living freely permeable and mainly composed of cellulose? /e

T DI 91 TP T, (Feila Jod U A IR 9YT 31 &0 A @A I g1 gidl 82
1. Tonoplast / THITIRE

2. Nuclear membrane / TTHBIY fRreeit

3. Cell wall / IRTepT fHfxT

4. Plasma membrane / SIIGGed Bl

Correct Answer :-

« Cell wall / BIfrepT fHfy

25) What is the function of the nucleus? / AP BT T BT ﬁ?ﬂ %?

1. It controls only the division of cells / %Wﬁﬁm&ﬁ & AU 1 FERa s %I
2. It controls only certain specific functions / g Had P faferse Sl & fFEHd Har %I
3. It controls all the activities of a cell / ugaﬁf?m&ﬁ P gt nfafafay &) Faa s %l
4. It has no specific function / SHD] ﬁ_sc g st '_'lgbf @W % |

Correct Answer :-

« It controls all the activities of a cell / usﬁ&maﬁ P gt nfafafi )RR s %l

26) Which of the following celestial bodies are also known as shooting stars? / Frafefaa 4 9 foa @
fis @ IeP1 & T H Ht 11 oIer B2

1. Meteorites / 3eplUS
2. Satellites / 3UUe
3. Comets / J=5d dRT

4, Asteroids / &gsUg

Correct Answer :-

« Meteorites / IehIUS

27) Bone is connected to another bone by: / Th 3‘@1’, 3 Y J GRT Jaifora ?E_Cﬁ %I
1. Cartilage / IUTRY

2. Tendons / HS]

3. Ligaments / HIg
(36)



4. Both tendons and ligaments / PSR] @Tm Gl

Correct Answer :-

o Ligaments / H1g

28) The incident ray, the reflected ray and normal at the point of incidence lie in the ./ SIMad- ﬁg LR

3T fH=ur, WRiafdd feruraur sifiida . A fRA s 1
1. different media / TH=1 TTE0H

2. different plane / =1 9aq

3. same plane / JHIH JHIA

4. same surface / HIT YUY

Correct Answer :-

 same plane / FHH HAA

29) .. .. mAEm—F2  mPiEn-T2 _
) Simptify-” T P o e i
1 n—12
2 n+12
3 nt 9
4" 8

Correct Answer :-

. n+12

30) The type of fertilization that takes place in human being is: / HIFHd | T YDPR DI e 'zﬁ?lT %:
1. External fertilization / 9@l s

2. Internal fertilization / 3ffcR 8

3. Spore formation / aolFﬂTII RCEI

4. Cloning / AT

Correct Answer :-

« Internal fertilization / 3ffaR 8=
(37)






